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PAIIMOHAJIHU AJITEBAPCKU U3PA3HN
( npBH 1€0)

Ynpoctutu uspase:
2
a) x°:x° 0) (x6) B) x°-x° r) x*:x° 1) x°:x b x°:x e) x°- x

YnpocTtutu uspase:

a) XZOZ()C7‘)C4) 6) (x4)3-(x5:x2)3 B) —x“:(xS:x3)2 F) ﬁ l[)

YupocTu uspase:

, , 52b33~4b5 2324 4b34- 4ps
a) (2xy2) (szy) 6) (2xy2) :(zxzy) B) (a# gx—'f) &

Wspaaymaj: a) 5—(-5) -5  6) 5'-(-5):(5) B) 3—(-3)'-3 1 3'.(-3):3

W3pauyHaj BpeJHOCT U3pasza

20:4° 24 4?16 5°.25° 162" 37.9°
R
(-2)"-2% 2" 242" (<2)
Uspauynaj BpenHocT u3pasza a) -————— a 5
) 2)
3pauyHaj BpeHOCT U3paza ) (22 )2 +(32 )2 -5° 6) 5° —(23 )2 —(22 )2

. 1Y (16Y (3Y 3V (2Y (1Y
! 1Y (16) (3 3V .(2) (471
3patyHa) BPeIHOCT H3pasa ) (J (3) (8) K (Sj (9] (72j
B) (1lj . 1§j : 2° r) 44'(11] (lj
7) 4 2) \3

4y g2 .93 s Q2 (LAY
W3pauyHaj BpeAHOCT M3pa3a a) (22)3+( 4) 82 +2 8" (-2)

N3pauyHaj OpojeBHY BpEAHOCT aTuX U3paza 3a x =—1
a) 3x° —4x+5 6) —4x’ —3x>+4x+5 B) 2x*—4x’ —3x* +4x+5
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N3pauyHaj OpojeBHY BpeAHOCT H3pa3a 3aa=-1,b=2.

Sa+b*

3a’ +2b°
2p

N3pauyHaj OpojeBHY BpeIHOCT U3pa3a 3aa=1,b=-2.

3a a=-2, b=3, c=-4 wuspauyHaj Opoj eS:Hy BpPEIHOCT U3pasa:
a) a*-b +¢’ 6) 3a>—2b+4c’ B) %a3—§b3+zc r) (4a+3b+c)4
W3pauyHaj OpojeBHY BpeAHOCT U3pasza :
2) X +2x-1 sa x:—l; 6) X —x"+2
x—1 2 x =2
3

4 2
B) 2-x 3a le; r) X o2x w4 3a x=\/§;

xt -1 2 x* =1

N3pauynaj OpojeBHY BpeIHOCT u3pasza ako je x=5, y=0 u z=-2.

a) 2-(x—y3zz); 6) 2-(x—y3)'22; B) 2-(x—y3z)2 N 2:(x-y)-2



